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(i) For which values of a and b does the following pair of linear equations have an
infinite number of solutions?
2x+3y=7
(a-b)x+(a+b)y=3a+b-2
(ii) For which value of k will the following pair of linear equations have no solution?

3x+y=1
2k-1)x+(k-1)y=(2k+1)
Solution:
(i) Equations are
20+ 3y =7 )
(a-bx +(a+by=3a+b-2 ... (ii)
For infinitely many solutions,
a, b, ¢ 2 3 7
a_z'_ E:_z_c_z a-b a+b 3a+b-2
Now, on comparing
2 - 2 S2a+b)=3a-b) = 2a+2b=3a-3b
a-b a+b
= a-5Sh =0 ... (iii)
and on comparing
3 -7 — 3(Ba 4+ b-2)=Ta + b)
a+b 3a+b-2
= 92 + 3b-6=Ta + Tb =2a—4b =6

= a — 2b = 3 Solving (iii) and (iv) foraand b
By cross multiplication method.

a b -1
P et e
-2 3 1 -2
a _ b ~1 a _ b _ -1 — —

(ii) FEquations are
x+yv=land (Zk - 1w + (k=-1)y =2k + 1
For no solution

3 1 1
2k -1 k—-l;élk+l ( )
= 3k—-3 = 2k-1 =k =2
1 1
and * =2k +1=k-1=k#-2
an k-1 2k + 1

[k = 2] and [k # — 2]




